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General Instructions :
Read the following instructions carefully and strictly follow them :

(i) This question paper contains 35 questions. All questions are compulsory.
(it)  This question paper is divided into five Sections — A, B, C, D and E.
(iti) In Section A — Questions no. 1 to 18 are multiple choice (MCQ) type questions,
carrying 1 mark each.
(iv) In Section B - Questions no. 19 to 25 very short answer (VSA) type questions,
carrying 2 marks each.
(v)  In Section C - Questions no. 26 to 30 are short answer (SA) type questions,
carrying 3 marks each.
(vi) In Section D - Questions no. 31 and 32 are case-based questions carrying
4 marks each.
(vii) In Section E — Questions no. 33 to 35 are long answer (LA) type questions
carrying 8 marks each.
(viit) There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
2 questions in Section E.
(ix)  Use of calculators is not allowed.
SECTION A
Questions no. 1 to 18 are Multiple Choice (MCQ) type Questions, carrying
1 mark each. 18x1=18
1. A compound CaCl, . 6H,0O undergoes complete dissociation in water. The
Van’t Hoff factor 7’ is :
(a 9 (b) 6
(c) 3 (d) 4
2. For a zero order reaction of the type A — products, the rate equation
may be expressed as :
Aly—1|A Al-[A
t t
Aly—1]A Al —1A
(c) k:[ ]O [ ] (d) k:[ ]0 [ ].t
2t 2
3. Which of the following Cu?* halide is not known ?
(a)  CuBr, (b)  Cul,
56/4/3 3> P.T.O.
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T FaaTeTl H ¥ -8l o-D-ehid i HEUT Ll 7 ?

AR [Cr(Hy0)g1Cls, [Cr(Hy0)5CIICL, . HyO 3 [Cr(Hy0),ClylCl . 2Hy0
‘Q’Sﬁﬁ % :

(a)  SU GHTEHEA! (b)  SATHA HTEHET

(¢c) ITIH THTEHEd] (d) &3S HTEIEd

frafifgd o € HH-81 Ueehd 37 3INd STerdiee g Jafiash Ueehlgidl ol
2?

(@) 25gdM b) 2R

(¢ TIdH d 1N

& TEeIeiA @l fe7 R |ig HCL & @y T fohan Smar 8, @ s areln
3T 3 :




4, Which of the following structures represents a-D-glucose ?

5. The compounds [Cr(H50)]IClg, [Cr(Hy0),ClICly . HyO and
[Cr(Hy0),CL]C1. 2Hy0 exhibit :

(a)  Linkage isomerism (b)  Geometrical isomerism
(c) Tonization isomerism (d) Hydrate isomerism
6. Which of the following alkenes on acid catalysed hydration gives a
tertiary alcohol ?
(a)  2-Butene (b)  2-Methylpropene
(c) Propene (d) 1-Butene

7. When nitrobenzene is heated with tin and concentrated HCI, the product
formed is :
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8.  1-%Ha-2-FARINIUA s Vewhigic! KOH & @ Affshan gea: <t 2 -

(a)  1-%Haad= (b)  3-HiHeTdH

()  1-HHAIUA-3-3TTdA (d)  1-RHAIEE-2-31TA
9. 2 P HUNI B

(a) Tagea usm

(b)  IHNI-TETH TshH
(c) Toq-uEmafTes WA
(d)  JIY=IF UshH

10. AT 1 e S fopelt warfies sifufshan o wew sifufshan a8, T W

Bl 8
(a)  SATTsRAT 1 AR Sl

(b)  Irfferan Y wife
(c)  ATIfshan shl TigiehaIHId Shi
d)  3rfyfspan Y sTrfoaenar <k

11. TmfiReq FEmEEge # § HF-A1 TA-3I6H 8H W b 3R To@ed <l

2?

(a) TP (b) HFT
(¢) HIeeH d) H@E
12. fr=fafea § 9 foeg faafim 6 =t @ fened” g 8 2
(a) Toarf= A (b) foeafm D
(¢c) Tae= B @ feerfmm C

13. fr=fafga 4 @ e ‘v’ 2 2
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8. Reaction of 1-phenyl-2-chloropropane with alcoholic KOH gives mainly :

(a) 1-phenylpropene (b)  3-phenylpropene
(c) 1-phenylpropan-3-ol (d) 1-phenylypropan-2-ol
9. Corrosion of iron is :

(a) adecomposition process
(b)  a photochemical process
(c) an electrochemical process

(d) areduction process

10. The number of molecules that react with each other in an elementary
reaction is a measure of the :

(a) activation energy of the reaction
(b)  order of the reaction
(c) stoichiometry of the reaction

(d)  molecularity of the reaction

11. On hydrolysis, which of the following carbohydrates gives glucose and
galactose ?

(a) Sucrose (b) Lactose
(¢) Maltose (d) Cellulose

12. The deficiency of which of the following vitamins causes ‘Rickets’ ?
(a) Vitamin A (b)  Vitamin D
(c) Vitamin B (d) Vitamin C

13. Which of the following is an ‘Acetal’ ?
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g |

16. 37997 (A) : UM 1 TASHAT THHT T9g 1 UEifded g aiafea s
I B T ST EehaT B

FRU(R):  CEHIfeeH, THAY THg o AfhA0 I9TE I HE HL <l 7 |

17. 397 (A) : 9o fagq-staeesn 6 @i dier =mershal (A, ) & Ay, &
faudia CV2ask & afgaem & e fomam <1 wehan B |

HRU(R):  God fagd-meged o fu AL, Sy [ &1 3w w6
gTed Sl STt 2 |

18. 3WH97(A): E T

FRU(R): A AH® 3= AU Ap qH® T B & |

56/4/3

YT (+ 0:34 V)2 |



14.

The crystal field splitting energy in tetrahedral crystal field (A;) is equal to :

(a)

(c)

4 9
54 b) A
4

§A0 (d) ZAO

For Questions number 15 to 18, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c¢) and (d) as given below.

15.

16.

17.

18.

56/4/3

(a)

(b)

(c)
(d)

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

Assertion (A) : When NaCl is added to water, a depression in freezing

point is observed.

Reason (R): The vapour pressure of solution is increased which causes

depression in freezing point.

Assertion (A) : Monobromination of aniline can be conveniently done by

protecting the amino group by acetylation.

Reason (R):  Acetylation decreases the activating effect of the amino

group.

Assertion (A) : Limiting molar conductivity (A,,) is obtained by the

extrapolation of the A, versus CY2 curve of strong
electrolyte.
Reason (R) : /\:n for weak electrolytes is obtained by using

Assertion (A) : E

Kohlrausch’s law.

o

w2t /oy 8 positive (+0-34 V).

Reason (R):  Copper has high AaHO and low Ahdeo.
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20.

21.

22.
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Qs @

frfrfaa & omg. g 4o, 9w faRex - 2x1=2
(%)  [Colen),(H,0)CN)I**
(@) [Ni(NHy)ICl,

39 9 T A9 odsU S - dx = =2

3

)
)

@

(
(
()
()
(%)

o

(@)

JTAT STANET HTIhH | IYFNT foha 7T o |

ATEl Td 3aedl W I TR ST 7 |

ST I g wfgat & fore Ik BT @ |

foor faver 7€ ear @ ot aifsreet # Swim & e Siren @ |

TITA 3R UHieE & fagw g ukee w9 forg g o1 fomem
T 1T § 2 ShR0T il | 2

AAAT

feoraraneft st uftarfya hifvie | T=ee e @ somerss fomem g form
JehR b fEoreranefy ffHa ga1 8 2 ueh Ierswor ST | 2

famatafga 1fufsranst o 3cure fafgu . 2x1=2

Q) dlq liaOH S

.
(ii) + H,NNH - CO - NH, —+

SreaT
ffaRaa wuraen = Afteran @ = ° g Fiflve 2x1=2

(i)  <IEH 9 S9ligeh 3T

(i) sWfcegEe ¥ 1-hiAdudaia




19.

20.

21.

22.

56/4/3

SECTION B

Write IUPAC names of the following :

(a)
(b)

[Co(en),(H,0)(CN)I**
[Ni(NHj),ICL,

Name the cell which :

(a)
(b)
(c)
(d)

(a)

(b)

(a)

(b)

was used in Apollo Space programme.
is used in automobiles and inverters.

is suitable for hearing aids and watches.

does not give a steady potential and is used in transistors.

2x1=2

What type of deviation from Raoult’s law is shown by a mixture of

ethanol and acetone ? Give reason.

OR

2

Define Azeotrope. What type of azeotrope is formed by negative

deviation from Raoult’s law ? Give an example.

Write the products of the following reactions :

) Conc. NaOH
(1) A >

+
(ii) + H,NNH - CO - NH, —+ >

OR

Do the following conversions in not more than two steps :

(1) Toluene to Benzoic acid

(ii)) Benzaldehyde to 1-Phenylethanol

<at>

2x1=2

2x1=2

P.T.O.



23.

24.

25.

26.

27.

56/4/3

N,Op o T2 Hife forere o1 o feerres FefetRad wefiertor gra feam Sirn 2
2x10*K

logk = 236 —

39 AR % fou B, aiepferd i |
[R=8314J K mol ']

CgH;5C1 3UEH 1 Ucshl al3s (A) Ueehiaict! KOH % |1 3Tfufshan =hteh
CgHyp, SVEF a1 3 THEFE! UeshH (B) 3R (C) <@l & | QHi UeehM
BTSSR fohT ST W 2,3-SEHIIESRA <d & | A, B 3R C &l F=AT

fafau |
TIHTA o 3T Toier 8 wefid s bt fmanfarfer foafaw |

e 1

fferiaa & wror i . 3x1=3

() Sy1 Afufsen 6 vfd af~e Feirrss Tcafe sifufsramsfia @ |
(@)  (4)-SIA-2-31c YA Tk &, JAMY aH fohleT hre WHTY] Brel B |
(1)  SFARIBH i 5 TE0 T Sidal ¥ &1 1T 2 |

fOR T W CyH5Cl & oM whild A faeed @ gRe fefaRad sifse
Ared &gq
CoH;Cl (g) — C,H, (g) + HC1 (g)

TR Ty (s-1) % a1 (atm)
1 0 0-4
2 100 0-6
a7 fedres gftefera HifST |

[feam TR0 R : log 2 = 0-3010, log 8 = 0-4771, log 4 = 0-6021]

<{a2>



23. The rate constant for the first order decomposition of N,O5 is given by
the following equation :

4
log k = 23-6 — 2x10°K
T
Calculate E, for this reaction. 2

[R=8314J K ' mol ]

24. An alkyl halide (A) of molecular formula CgH;3Cl on treatment with
alcoholic KOH gives two isomeric alkenes (B) and (C) of molecular

formula CgH;9. Both alkenes on hydrogenation give 2,3-dimethylbutane.

Write the structures of (A), (B) and (C). 2

25. Write the mechanism of acid dehydration of ethanol to yield ethene. 2
SECTION C

26. Account for the following : 3x1=3

(a) Benzyl chloride is highly reactive towards Sy1 reaction.

(b) (#)-Butan-2-ol is optically inactive, though it contains a chiral

carbon atom.

(¢) Chloroform is stored in closed dark coloured bottles.

27. The following data were obtained during the first order thermal

decomposition of CoH;Cl at a constant volume :

CoH;Cl (g) — CyH, (g) + HC1 (g)

Experiment | mjme (s71) | Total pressure

(atm)
1 0 04
100 0-6
Calculate the rate constant. 3

(Given : log 2 = 0-3010, log 3 =0-4771, log 4 = 0-6021)

56/4/3 <13 > P.T.O.



28.

29.

30.
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Ifg aigH I (M = 122 g mol-1) 94 § =i W @ g Tgax
ST B 3R 27°C W 6-1 g S-ligeh 3T I 100 mL S § WRER0 el

6:5 atm B, Al S=AIgh It ! GUH b gfesra grm 2

(feam 7= 8 : R = 0-0821 L atm K1 mol™1)

()

o

1)

(ii)

(111)

(1)

(i)

o

Ueh 3¢TU0T Gfd BIegIaRi---ATae et arfufsran fafgu |
frafafga s1fufsran & 3Icurg ferflaw

I hl T H p-ATSgrhiFIc Teeh Tl i § ? 3x1=3

AASAT

T BT & S HIFTe (IRad o BT FAMMhaT HaT & :
(1) &g HNOg, 3R
(2) o™ NaOH 1 3ufedfd § CHClg ¥ 3R 35 94T

ITEATRLIT AT ?

had TR fafgn |

CH3ONa &1 (CHg)3C — Br o @y Affshan 2-afderarda ot 3
T f% (CH3)5C — OCHg, #1 ? 2+1=3

EESINILCH

H ¥ fohal @7 o SR QT ; 3x1=3

() FEShar ey fagid % MUT W [Fe(CN)gl®™ H G0l % JhR 6
ST hHifT | (T T 8 : Fe o1 9THIY] HATH = 26)

[PtCly(en)o] %+ SARF o SATHATT THTERE TRREd i |

[NiCl,)?~ Mg 8 J&fh [Ni(CO),l Sfagreeha 3 Tafu gef
TN & | FT ?

39 guTedadt 1 A9 ffee S« #is 39gd! fofes hrila o1q 31=H 9
sfera 2 | et foe 1w 3grEwr A |




28. If benzoic acid (M = 122 g mol_l) is associated into a dimer when
dissolved in benzene and the osmotic pressure of a solution of 6-1 g of
benzoic acid in 100 mL benzene is 6-5 atm at 27°C, then what is the

percentage association of benzoic acid ? 3

(Given : R = 00821 L atm K~ mol™)

29. (a) (1)  Write hydroboration-oxidation reaction with an example.

(ii) Write the products of the following reaction :

(iii) Why is p-nitrophenol more acidic than phenol ? 3x1=3
OR

(b) () What happens when phenol reacts with
(1) Conc. HNOg, and

(2) CHCl; in presence of aqueous NaOH followed by

acidification ?
Write equations only.

(i) Why does the reaction of CH3ONa with (CHg);C — Br give
2-methylpropene and not (CH3),C — OCHg ? 2+1=3

30. Answer any three of the following questions : 3x1=3

(a) Explain the type of hybridization in [Fe(CN)6]3_ on the basis of

valence bond theory. (Given : Atomic number of Fe = 26)

(b) Draw the geometrical isomers of [PtClz(en)2]2+ ion.

© [NiClJ*

both are tetrahedral. Why ?

is paramagnetic while [Ni(CO),] is diamagnetic though

(d) Name the type of isomerism when ambidentate ligands are
attached to central metal ion. Give one example of ambidentate
ligand.

56/4/3 <15 > P.T.O.
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HEA1TIGd 397 Sa-STTE9RT J97 & | 9 &l TEer19as e 37K 1T 7T 911 & IR
1T |

31. S9-GF Fh S Sd Y WY HET@Ree, T, =aeih 3w, ffvs, e |
frereht aFd & | FrterEge, AU Uik difcrersgiaddl Ufcsaise veEn e
YGT & A Bl @ ToIeh AA-3TTEA T $H YR hi $HISAT I it & | S5
& €9 § I Gl § Ffiehd TRAT AT & — HFIEHRUSS, JerEhise 3R
IIAdhES | AHIHHUSE TSHIHISH J GRI JShL SFHHBUSS 98 hid,
HIcerd AT FiicTehl3e S T IR J@™ 91 & |

I AT A : W oV A F Tgeh & S UerEE el g g8 @
8 | T8 Wl 3TF 3Tevdeh UHHT 377 hadTd & | Tl hl §CaqT T 3TTh(d
1 A IR 9 wql W TR S deear @ s1eifq wafies, fodtaes, gt w@
TIq5h HLSHTE qT Teesh TR g shi JorT | 31fe SIfed 8id 2 |

(i)  TASHITUfSHh 99 R ULES 99 H 7 3T 2 ?
(i)  H- THHT 37, 3Tavdeh UHHAT 3T+ Hadld & ?

(i) WA h GE YRR I fodiaes g=a|e = 2 2 el @ 9l %
T fafae S 9iEE 1 e 3R qafess st i TAiicd YeH
A B |

AAAT

(iii) U IaTeAU Higd WA & faeheiehtor sl qieiva shifsrg | faspdiertor
S SIEMT 61 foh wtamTeTt i Sifae afshaar T8 & It 8 2
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

31. Living systems are made up of various complex biomolecules like
carbohydrates, proteins, nucleic acids, lipids, etc. Carbohydrates are
optically active polyhydroxy aldehydes or ketones or molecules which
provide such units on hydrolysis. They are broadly classified into three
groups — monosaccharides, oligosaccharides and polysaccharides.
Monosaccharides are held together by glycosidic linkages to form
disaccharides like sucrose, maltose or polysaccharides like starch and

cellulose.

Another biomolecule : proteins are polymers of a-amino acids which are
linked by peptide bonds. Ten amino acids are called essential amino
acids. Structure and shape of proteins can be studied at four different
levels i.e. primary, secondary, tertiary and quaternary, each level being

more complex than the previous one.
Answer the following questions :

(i) What is the difference between a glycosidic linkage and peptide
linkage ? 1

(i1) Which amino acids are called essential amino acids ? 1

(iii) What are the common types of secondary structures of proteins ?
Write any two forces which stabilise the secondary and tertiary

structures of protein. 2

OR

(iii) Define denaturation of protein with an example. During
denaturation which structures of protein lose their biological

activity ? 2

56/4/3 7> P.T.O.



32. UfH Y: T8I, 8EE, UHTSS, 3HISS, Scdie AMehl ¥ sdl & | I BIEgIeH
aeye Tefifa wdft € fed g wifees 1o menfea @ 2 | Ueswa WA O
SO oI, Tifem don gEgee eE #Re Wifids ga faamet #
yfeeenfyd STif=m g % TARicd AYTq FRehdT I YWTfad Hd 7 |
AT UHEAT § Soierg fodi=reh 9 3993 HWg ARl &ehal H Jig Td 3™
Hd g | B TETY] T UM FIES TCHIISTT <hl H&aT 1 AR
TR qAT TTed IcUTE sl Tohid W THIE Wnefies, fgdiaes ua gt AT <6l
g qol faug & AU ITER g | WHldsh aad H UHHT |g 6l 3urefd
e UHAT 1 SAHTRATIEAr i 96T St 8 | TR STEUSH - e S8l
g % AR HShreH gl UNE gaTss, ARHES, hHia o1 UH I
S e fofeat Suetsy S § |
() Tfafea =1 Sei fooaq § 36 pKy, A1 % 98d g A H S

ﬁﬁm: 1
C,H NH,, (CoH),NH, (C,H,)N
(i) Y WA dg oAl @ du-fderes giar 8 TRt ot Uil Amseient g
JIT AT H WSS St & | &=l 2 1
(iii) C7HgOy JTEH T Teh WHICh AR A’ Teha I & fhaT 6
3T TH G | A B fffa wxar 8 | s B, Bry 3R el
KOH % &1 TRH i W CgH,N TEF 1 Teh b ‘C’qai 7 | A, B

3t C 1 wr=A fafa | 2
AASAT
(it) & IqTEl I < gu Fefafea sifufrenet @ qof Hifse - 2x1=2
NH,

e
(1) m + Bry (aq) —>
S

(2)

56/4/3



32.
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Amines are usually formed from nitro compounds, halides, amides,
imides, etc. They exhibit hydrogen bonding which influences their
physical properties. In alkyl amines, a combination of electron releasing,
steric and hydrogen bonding factors influence the stability of the
substituted ammonium cations in protic polar solvents and thus affect
the basic nature of amines. In aromatic amines, electron releasing and
withdrawing groups, respectively increase and decrease their basic
character. Influence of the number of hydrogen atoms at nitrogen atom
on the type of reactions and nature of products is responsible for
identification and distinction between primary, secondary and tertiary
amines. Presence of amino group in aromatic ring enhances reactivity of
the aromatic amines. Aryl diazonium salts provide advantageous
methods for producing aryl halides, cyanides, phenols and arenes by
reductive removal of the diazo group.

Answer the following questions :

(i)  Arrange the following in the increasing order of their pKy values in
aqueous solution :

(i1) Aniline on nitration gives a substantial amount of m-nitroaniline,
though amino group is o/p directing. Why ?

(i11)) An aromatic compound ‘A’ of molecular formula C;HgO, on
treatment with aqueous ammonia and heating forms compound ‘B’.
Compound ‘B’ on heating with Br, and aqueous KOH gives a
compound ‘C’ of molecular formula CgH;N. Write the structures of
A, B and C.

OR

(iii) Complete the following reactions giving main products : 2x1=2

NH,

= o
(1) || + Bry (aq) —>
S

(2)

P.T.O.
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Qs &

G) T=fafea < fau s e
(1) Zn?* @99 TEF & e Ni2* @& UfiF 81d 2 |
(2) Cr?* U Jad AYAEH 2 |
(3) TSHUTT UTqY AT ek AMfiTeh ISRH HshardTd goiid 3 |

() (1) I”3RM, 3R (2) Fe?* 3T@A o €Y A+l H1egd § MnO),,

i ATFefirres fhan o fotu st Tt forflay | 3+2=5
rera

(i)  3d 2oft T FhEU gTgSTi <k g El-GTg RO & A fefEg
e arg ot T o T SRR TawT Yefid ! @ |

(i) KoCryO; foe™a W pH ¥ Jfg &1 w1 IwmE gl & 2

(i) Cut el foaa & comrft =i 7 &1 8 2

(iv) ATIS it o Ueh TS T ATH FATST S +4 TR0 STTLeT

29 o foru weft-wita S Sman 2
(v) 3d 9t & @ q=t & AW faRgw S rEa soiNe fom
Sl'qﬁ?lwﬁ%l 5x1=5

S [CSaTES i 2,4-STETEIBHASIES TN hl =T EifT |

Ffeiiad ITa | | -1 377 (4% Jad & 2

TS TT | Helg T gHieh fafan |

Ufcegsel 3R HITHl o o-FEGH TS hl Thid T Fi Bidl

77

Iifeegss 3N dwlissh 3 H fave = & fou vomafies wdem
fafeaw | 5x1=5




SECTION E

33. (a) (1) Account for the following :
(1) Zn>* salts are colourless while N12+ salts are coloured.
(2) Cr*tisa strong reducing agent.

(3) Transition metals and their compounds show catalytic
activities.

(ii)) Write the ionic equations for the oxidizing action of MnO; in

acidic medium with
(1) I ion,and
(2) Fe?* ion. 3+2=5

OR

(b) (@) Name two oxometal anions of the 3d series of the transition
metals in which the metal exhibits the oxidation state equal
to its group number.

(ii) What is the effect of increasing pH on a solution of K,CryO ?

(iii) Why is Cu* not stable in aqueous solution ?

(iv) Name a member of Lanthanoid series which is well-known to
exhibit +4 oxidation state.

(v) Name two elements of 3d series which show anomalous
electronic configuration. 5x1=5

34. (a) Draw structure of the 2,4-dinitrophenylhydrazone of benzaldehyde.
(b)  Which acid of the following pair is a stronger acid ?

(c)  Write the chemical equation involved in Rosenmund’s reduction.

(d) Why are o-hydrogen atoms of aldehydes and ketones acidic in
nature ?

(e) Write a chemical test to distinguish between Benzaldehyde and
Benzoic acid. 5x1=5
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1)

(i1)

1)

(i1)

298 K W ffaifad @@ &1 fag[q-aes §@ (emf) di&hfcta
Al () | AI** (0-001 M) |l Ni** (0.1 M) | Ni (s)
[ﬁ?ﬂTRIT%:E; =-166V, E° =-025V,log 10 = 1]

13+ / Al NiZ* /Ni
Ueh TG shl TERAT & AT hife foh gaa foggq-staerest i
wifd geidl fagd-staees & I A, , HIeR =teehdl (Ay,) i C12
o foadta UTed osh o AfgaIF | I R NG R TGI8 | 3+2=5

AT

NH,, 3 CI” 375 I HIeR =TTt 79T 73-8 S cm? mol-1
3R 7628 cmZmol™! F1  01MNHCl H  <rcrehdl
1-29 x 1072 Sem~1 3 | 3T HIGR =Tdashdl R foriea #m

qieRicTd I |

298 K W Ffafiga srfufsran & fou srdaw fawe ufiwfem
IS

Zn*t + 2¢- — > 7Zn

e [Zn?*) =01 M 3R EZ 2 1 —_076V? | 3+2=5
n n




35. (a) (@) Calculate the emf of the following cell at 298 K :
Al(s) | AI** (0001 M) Il Ni** (0-1 M) | Ni (s)

[Given: E =-166V,E_, =-0-25V, log 10 = 1]
AlI°T /Al Ni“T /Ni

(i1) With the help of a graph explain why it is not possible to
determine /\:I1 for a weak electrolyte by extrapolating the

molar conductivity (A,,) versus Cl2 curve as for strong

electrolyte. 3+2=5

OR

(b) @) The molar conductivities of NHZ and Cl ion are

738 S cm? mol ! and 762 S em? mol ! respectively. The

conductivity of 0-1 M NH,Cl is 1-29 x 102 S em™L. Calculate
its molar conductivity and degree of dissociation.

(i1) Calculate the half-cell potential at 298 K for the reaction
Zn?* + 26 — > Zn

if [Zn?*1=0-1M and E° b, =-076V. 3+92=5
m<" /7Zn
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